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A)m = 1; y-intercept: (0, 3)

B) m = -1; y-Intercept: (0, 3)

A) m =5, y-intercept: (0, 2)

B) m = 2, y-Intercept: (0, - 5)




Write the é,qua-h'on of the in€.
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5‘ Write the equation of the line in slope-intercept form.

A)y=-Tx-7 B)y=-=x-3 c)y=-%x-7 D)y =-x-3

' o wand L dy=-6
' - t of x - 3y
o Whet 3 S IR
A)(-%, 2)  (a7b)
B0 (07

C)(-6.0) (0%
D)(0,2)  {~l0)




g Jestion - 7.

Q. Is this graph a function or not a function?
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Q. Determine if the following relation describes a

s >24 function
, ! it ' ‘.
T TS5 Funetion Not & Function
Question . Ia
, Q. Is the relation a function? Why.
-7 ) :
1" > 8
\\"
pf. Yes, because the x-value 11 has two y-. C . Yes, because each x-value has only one
values pair with it. y-value paired with it.
p, No, because the x-value 11 has two y- P No, because each x-value has only one y-
values pair with it. value paired with it.

I3 . Which relation is NOT a function?

B (1,5, 61), (54), (42} G- 12.7),3.7),(4,7), (58)
B. {(1.-5),(-1,6),(1,5), (6,3)} D. 13-2)(56),(7,7), (8,8)

I4. Which of the following relations is a function?

A){(3,1), (4, 1), (3,2)}
B){(1::1), (1. 2), (1, 3)}
- ©){(0,0), (0, 1), (1, 2)}
D){(0. G}, (1, 2), (2, 3)}
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lb‘.- What is the domain of this function: {(0, 1), (2, 3), (-11, 3), (4, 5))?

¢ = A){1,3,5
(A A B) {3} )
C) {0, 2}
D) {0, 2, -1, 4}

Ilo- Whatis the rangé of this function: {(4, 8), (9, 2), (-3, -4)}

A) {8} |
B) {8, 2, -4}
C){4,9, -3}
- D){(4, 8). (9, 2), (-3, -4)}

Il . Givenf(x) =2x + 1, find f(-3).
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A)3
B)5
C)
D)8

* 1©.

Identify the equation of the line grap

A 2x+y=4
B. 2x-y=4

hed below. Prove by co_nverting!

C.x+2y=8
D. x-2y=8

\Q.
" Identify the equation of the line graphed below. Prove by converting!
{ A. 3x+5y=5
B. 3x-5=5
C. S5x+3y=3
D. 5x-3y=3
£



-

20.

25,

2+,

Graph the following linear inequalities.

y<-2x+1 . 2x -5y < 20 22 x=-3y<0
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Select the inequality that best represents the graph.
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part I.
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«x+y<-4
x+y2-4
«X—PE4
«Xx-y24

x < -2
y<-2
x> -2

Yy > -2

port L, which point
i5 (N the solution®
A. (4,0)
8. (0,-3)
G. 2,1
D. (%,

Pav'{' ]S, whion PD\Y\‘\’
iIs NOT w2 ‘
solvnon? ?
A (4,-0)
B. (-5,-1)
¢. (0,-3)
0. (2,-v)



